©

9MM POT NUT AB8172

BLACK KNOB AJ5386 \ Y
14MM 20KKx2 POT AI8007 ~— |
5MM BLACK BUTTON AJ5388 . @ L
LATCHING SWITCH AL0162
8MM BLACK BUTTON AJ4251
SCREW M3x8 AB3820 ———p© p L©m T 4 POLE LATCHING SWITCH AL0333
GREEN/RED LED AE3743 —— 2w o)z rooeem
LEVELs 5 & LEVEL4 S ¢
Ta il ay SKIRTED BLACK KNOB AJ5387
14MM 20KKx2 POT Al8007 —_@ NEV/Y/N 11MM 20KK POT AI8003
HI ) ’ HI v\ lm MIN MAX
14MM 20KBx2 C/D POT AI8006 ——— @ d LATCHING SWITCH AL0162

3MM RED LED AE5145

D g MO ’ LFO
14MM 20KBx2 C/D POT Al8006 —— ‘@3 @ o(x

= TEMPO

MZID MZID TAP
14MM 20KBx2 C/D POT AI8006 —— - - @

LIGHT PIPE AJ5324
13MM BLACK BUTTON AJ5325
2x RED LED AE5443
MOMENTARY SWITCH AL0374

Lo Lo ’
14MM 20KBx2 C/D POT AI8006 ——— i U (V) | Resonance
15 +15 a5’ s
SMIM RED LED AE5145 o oOcuz 14MM 20KKx2 POT AI8007

8MM BLACK BUTTON AJ4251 _ﬁ e
LATCHING SWITCH AL0162 otk olitk
TOGGLE SWITCH AL5327 ———opD)  or

GREEN/RED LED AE3743 ———1—POPe  oNOPk 3MM RED LED AE5145
1 mic/RmN 2 A LATCHING SWITCH AL0162
SCREW M2x4 AB3818 —— D

2x YELLOW LED AE5444
MOMENTARY SWITCH AL0374

KNOB BLACK FADER AJ4310
FADER 60MM 10KAx2 Al3661

FREQ

® © 209
® ® 11MM 20KK POT Al8003

FILTER ON 20kHz

©
|

2x BLUE LED AE5466
MOMENTARY SWITCH AL0374

SMALL BLACK KNOB AJ5558
14MM 20KKx2 POT AI8007

Ofe

JACK SOCKET UNSWITCHED AL3407 QUAD PHONO AL4977

SCREW 4x5/16 AB2810

XONE:92 Surface Parts

BLACK KNOB AJ5386
14MM 20KKx2 POT AI8007

5MM BLACK BUTTON AJ5388
LATCHING SWITCH AL0162

8MM BLACK BUTTON AJ4251
4 POLE LATCHING SWITCH AL0333

GREEN/RED LED AE3743

14MM 20KBx2 C/D POT AI8006

SKIRTED BLACK KNOB AJ5387
9MM 20KBx4 POT AI5317
INCLUDING POT NUT

CHANGEOVER TOGGLE SWITCH swesse

LIGHT PIPE AJ5324
13MM BLACK BUTTON AJ5325
2x RED LED AE5443
MOMENTARY SWITCH AL0374

SCREW M3x5 AB3819

KNOB XONE FADER AJ5320
FADER 60MM AI5326

3MM GREEN LED AE5146
SCREW M3x5 AB3819
SCREW M3x5 AB3819

KNOB XONE FADER AJ5320
FADER 50KB 45MM Al4222

2BA TERMINAL POST AL8106

'
A@
R

#XOrNe-9g&

+6

—N ) pre

'

AUX

2 ] _
X

o +6

PRE

o PNONO

LEVEL

XFADE

x<a@pv
OFF

+6

O PRE

.
AUX
2 ] -
L L

1
AUX Y
1] -
Lm .

o +6

O

1 PHONO
= LINE

LEVEL @

L
o +6
FILTER

1<9@p2

TEMPO ADJ [K~)

) 46

Q PRE

.
AUX RS
1] -
L %

START / STOP

O
o pHion 01 PHONO
= LINE

FILTEH 2
LFO DEPTH

LEVEL @ LEVEL @ *‘_

o) e

TEMPO

E RESONANCE

L
046

FILTER

19@p2
OFF
XFADE

xA@py
OFF

o +6
FILTER MILD wiLD

19@p2

INK 2-1

VCFTO
XFADER

. TAP

Ce—

AUX@ DATA P4
L DI @F
PRE
AUX @ A @ Q
2 ] - R
O

L—PHONO —R L—PHONO —R

L—PHJNO —R

5PIN DIN SOCKET AL3962

SCREW M3x12 AB0078

AC MAINS IN ~

100 - 240V~

47632 ~ OWMAX Auxz

RECORD

BLACK BUTTON AJ2887
MAINS SWITCH AL3338

MAINS |EC AL3458

fRENPLACER L FUSIBLE AVEC UN DES MEW

L—PHONO —R

ALLEN G HEATH
#XONe:92

FPROFESSIONAL BJ MIXER

FUSE HOLDER AL3178 3PIN MALE XLR AL2411 DUAL PHONO AL3753

500MA FUSE AL3534

SCREW 4x5/16 AB2810

SCREW 4x5/16 AB2810

3PIN FEMALE XLR AL2410
JACK SOCKET UNSWITCHED AL3407

JACK SOCKET SWITCHED AL3410

JACK SOCKET UNSWITCHED AL3407

SCREW M3x8 AB3820

11MM 20KB C/D POT Al8004

2x YELLOW LED AE5444
MOMENTARY SWITCH AL0374

SKIRTED BLACK KNOB AJ5387
11MM 20KK POT AI8003

LATCHING SWITCH AL0162

3MM RED LED AE5145

LIGHT PIPE AJ5324
13MM BLACK BUTTON AJ5325
2x RED LED AE5443
MOMENTARY SWITCH AL0374

14MM 20KKx2 POT AI8007

3MM RED LED AE5145
LATCHING SWITCH AL0162

2x YELLOW LED AE5444
MOMENTARY SWITCH AL0374

11MM 20KK POT AI8003

2x BLUE LED AE5466
MOMENTARY SWITCH AL0374

3MM RED LED AE5145
3MM BLUE LED AE5147

3MM GREEN LED AE5146

KNOB COLLET BLACK AJ5612
KNOB CAP BLACK AJ5613
18MM 20KBx2 POT Al4964

AULERN & REATTH

QO +10 O

O+ 0]

0%0

[N

O 3 07

040

30| ©4—
00

L—R —

M
CUE — PRG — SPLIT

3MM RED LED AE5145 —0( )

©‘= ACTIE
-
© POST
O SPLIT qUE

© AUX1
O AUX2

MONI

ITOR

xone92_parts_1.doc

3MM RED LED AE5145
3MM BLUE LED AE5147

3MM GREEN LED AE5146
SCREW M3x8 AB3820

BLACK KNOB AJ5386
14MM 20KKx2 POT AI8007

14MM 20KKx2 POT AI8007

5MM BLACK BUTTON AJ5388
LATCHING SWITCH AL0162

14MM 20KKx2 POT AI8007

8MM BLACK BUTTON AJ4251
LATCHING SWITCH AL0162

5MM RED LED AE0001

11MM 20KK POT AI8003

14MM 20KKx2 POT AI8007

1/4" HEADPHONE SOCKET AL0328

3.5MM HEADPHONE SOCKET AL5323

Sheet 1 of 1


chrispa
AL5328

chrispa




